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(16) {dkmZ
1) gm‘mÝ¶ {dkmZ - ̂ m¡{VH$emó
2) gm‘mÝ¶ {dkmZ - agm¶Zemó
3) gm‘mÝ¶ {dkmZ - Ordemó
4) Amamo½¶ d nmofH$ Amhma (hoëW A±S> Ý ỳ{Q´eZ), CnMmaemñÌr¶ AÞ
5) ‘yc ŷV g§JUH$ V§ÌkmZ, g§n«ofU, _m{hVr d g§kmnZ V§ÌkmZ
6) {dkmZ d V§ÌkmZmMo Cn¶moOZ - n¶m©daU nyaH$ Kao

1) gm‘mÝ¶ {dkmZ - ^m¡{VH$emó

1) D$Om© emó - drO {Z{‘©Vr
2) AdH$me emó
3) AUwemó

1) D$Om© emó - drO {Z{‘©Vr
1) Ñí¶ gm¡a àH$memV D$O}Mo à‘mU A§XmOo ......% AgVo.

1) 37.7 2) 47.3 3) 57.3 4) 67.7
1) Visible portion of solar radiation contains % of energy approximately.

1) 37.7 2) 47.3 3) 57.3 4) 67.7

2) drO {Z{‘©VrÀ¶m ñdXoer {ÌñVar¶ H$m¶©H«$‘mVrb Imbr {Xboë¶m VrZ Q>ßß¶m§Mm ¶mo½¶ H«$‘ bmdm.
a) Xm~¶wº$ OS>nmUr AUŵ Å>r
b) ObX ~«rS>a AUŵ Å>r
c) ¶wao{Z¶‘ - 233 Am{U Wmo[a¶‘ - 232 dmnaUmar àUmbr
n¶m©¶r CÎmao …
1) AZwH«$‘o (a), (b), (c) 2) AZwH«$‘o (a), (c), (b) 3) AZwH«$‘o (c), (a), (b) 4) AZwH«$‘o (b), (a), (c)

2) Arrange the following three stages in an indigenous three-stage program of electricity generation.

a) Pressurized heavy water reactor

b) Fast breeder reactor

c) System using Uranium-233 and Thorium-232

Answer Options :

1) (a), (b), (c) respectively 2) (a), (c), (b) respectively

3) (c), (a), (b) respectively 4) (b), (a), (c) respectively

3) Imbrbn¡H$s H$moUVr {dYmZo N>Vmda ~g{dÊ¶m¶mo½¶ J«rS> H$Zo³Q>oS> gmoba ’$moQ>moìhmoëQ>mB©H$ {gñQ>r‘~m~V ¶mo½¶ AmhoV?
a) ¶mV gmR>dUwH$sgmR>r {dÚwV KQ> AgmdmM bmJVmo.
b) 1 KWP Mr J«rS> H$Zo³Q>oS> gmoba {gñQ>r‘ C^maÊ¶mgmR>r 10 Mm¡.‘rQ>a OmJoMr JaO AgVo.
c) hr {Zdmgr OmJm§À¶m N>Vm§da ñWm{nV Ho$br OmD$ eH$Vo ‘mÌ ì¶mnmar g§Hw$bm§À¶m N>Vm§da Zmhr.
d) hr {dÚwV nmaofU d {dVaUm‘wio hmoUmar hmZr dmMdy eH$Vo.
n¶m©¶r CÎmao …
1) ’$º$ (d) 2) (b) Am{U (c) 3) (b) Am{U (d) 4) (a), (b) Am{U (d)
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3) Which of the following statements are true for a roof-top grid-connected solar photovoltaic

system ?

a) It must have battery as storage facility.

b) About 10 m2 area is required to setup 1 KWP grid connected solar system.

c) It can be installed at the roofs of residential but not on commercial complex.

d) It can save transmission and distribution losses.

Answer Options :

1) Only (d) 2) (b) and (c) 3) (b) and (d) 4) (a), (b) and (d)

4) ^aVr-AmohmoQ>r D$Om© g§¶§ÌmMo VrZ à‘wI KQ>H$ ......
a) YaU qH$dm ‘moR>m hm¡X Am{U hm¶S´>m°{bH$ g§M¶Z Am{U g‘wÐ d YaUmbm OmoS>Umam Ob‘mJ©
b) D$Om© H|$Ð, YaU qH$dm ‘moR>m hm¡X Am{U YaU d g‘wÐmbm OmoS>Umam Ob‘mJ©
c) PmoV¶§Ì, YaU d g‘wÐmbm OmoS>Umam Ob‘mJ© Am{U YaU qH$dm ‘moR>m hm¡X
d) D$Om© H|$Ð, YaU d g‘wÐmbm OmoS>Umam Ob‘mJ© Am{U hm¶S´>m°{bH$ g§M¶Z
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) ’$º$ (b) 4) ’$º$ (d)

4) The three main components of a tidal power plant are

a) Dam or barrage to form basin and hydraulic accumulator and sluice ways between sea and basin

b) Power house, dam or barrage to form basin and sluice ways between basin and sea

c) Turbine, sluice ways between basin and sea and dam or barrage to form basin

d) Power house, sluice ways between basin and sea, and hydraulic accumulator

Answer Options :

1) Only (a) 2) Only (c) 3) Only (b) 4) Only (d)

5) 'gy¶©{‘Ì' hr g§km H$em~Ôb Amho?
1) gm¡a D$O}da MmbUmam CnJ«h 2) gm¡a D$O}da MmbUmam dm°Q>an§n
3) gm¡a CnH$aUo {Z‘m©Vm 4) gm¡a nr ìhr V§Ìk

5) What is the term ‘Suryamitra’ about ?

1) Satellite that operates on solar energy. 2) Solar powered water pump.

3) Manufacturer of solar equipments. 4) Solar pv technician.

6) 'XrZ~§Yy pñWa Kw‘Q> àmê$n', ho ...... Mo àmê$n Amho.
1) Yya{da{hV Myb 2) gm¡a ObVmnH$ 3) gm¡a ewîH$H$ 4) ~m¶moJ°g g§¶§Ì

6) ‘Deenbandhu fixed dome model’ is a model of ......

1) Smokeless chulha 2) Solar water heater 3) Solar dryer 4) Biogas plant

7) OrddñVw‘mZmbm Cn¶moJr D$O}V ê$nm§V[aV H$aÊ¶mgmR>r H$moUVr nÕV Cn¶moJr Zmhr?
a) O¡damgm¶{ZH$ b) Am¡îUamgm¶{ZH$ c) dm¶wH$aU d) {dÚwV {dKQ>Z
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a) Am{U (d) 3) (a) ’$º$ 4) (b) Am{U (c)

7) Which of the following method is not useful to convert biomass into useful forms of energy ?

a) Biochemical b) Thermochemical c) Gasification d) Electrolysis

Answer Options :

1) (a) and (b) 2) (a) and (d) 3) (a) only 4) (b) and (c)
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8) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) H$moUË`mhr nmÌ J«mhH$mbm ê$’$ Q>m°n nrìhr gmoba {gpñQ>‘ ñWm{nV H$aÊ¶mMr H$‘mb j‘Vm 1KW

p
 Vo 1MW

p

Xaå¶mZ Agmdr.
2) Am°Z J«rS> gm¡a nrìhr {gpñQ>‘ Vw‘Mr ~°Q>ar ñnog åhUyZ H$m‘ H$aVo.
3) Am°’$ J«rS> gm¡a nrìhr {gpñQ>‘gmR>r Vwåhmbm ~°H$-An ~°Q>ar IaoXr H$aUo Amdí¶H$ Amho.
4) Am°’$ J«rS> gm¡a nrìhr ê$’$ Q>m°’$ {gpñQ>‘gmR>r ZoQ> {‘Q>atJ Amdí¶H$ AgVo.

8) Which of the following statement is not correct ?

1) Roof top solar system maximum capacity to be installed at any eligible consumer shall be

between 1KW
p
 to 1MW

p

2) On-Grid solar PV system acts as your battery space

3) Off-Grid solar PV system require you to purchase back-up battery

4) Net metering is required for off-grid solar PV roof top systems

9) drO {Z{‘©VrgmR>r ŷ-Am¡pîUH$ D$O}À¶m dmnamer g§~§{YV Imbrbn¡H$s H$moUVo {dYmZ/Zo ¶mo½¶ Amho/V?
a) H$moaS>çm dm’o$À¶m g§¶§ÌmV 182 Vo 235 A§e gopëgAg Vmn‘mZmÀ¶m ŷ-Am¡pîUH$ dm’o$Mm dmna Ho$bm OmVmo.
b) âb°e ñQ>r‘ g§¶§ÌmV 182 A§e gopëgAg nojm OmñV Vmn‘mZmMo Ja‘ nmUr dmnabo OmVo.
c) ~m¶Zar gm¶H$b g§¶§ÌmV 107 Vo 182 A§e gopëgAg Vmn‘mZmMo Ja‘ nmUr dmnabo OmVo.
n¶m©¶r CÎmao …
1) a d b 2) a d c 3) b d c 4) darbn¡H$s EH$hr Zmhr

9) Which of the following statement/s related to use of geothermal energy to produce electricity is/

are correct ?

a) Dry steam plants use geothermal steam of temperature between 182 to 235 degree celsius

b) Flash steam plants use hot water above 182 degree celsius temperature

c) Binary cycle plants use hot water of 107 to 182 degree celsius temperature

Answer options :

1) a and b 2) a and c 3) b and c 4) None of the above

2) AdH$me emó
1) Imbr {Xbobo CnJ«h Am{U àjonU VmarI ¶m§À¶m OmoS>çm Owidm.

     CnJ«h   àjonU VmarI
a) RISAT-2BR1 i) 23.09.2009

b) GSAT-29 ii) 14.11.2018

c) INSAT-3D iii) 11.12.2019

d) Oceansat-2 iv) 26.07.2013

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (i) (iv) (iii) (ii)

3) (iii) (ii) (iv) (i)

4) (iv) (i) (ii) (iii)
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1) Match the following space-crafts and launching date.

Space-craft Launching date

a) RISAT-2BR1 i) 23.09.2009

b) GSAT-29 ii) 14.11.2018

c) INSAT-3D iii) 11.12.2019

d) Oceansat-2 iv) 26.07.2013

Answer Option :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (i) (iv) (iii) (ii)

3) (iii) (ii) (iv) (i)

4) (iv) (i) (ii) (iii)

2) hdmB© N>m¶m{MÌUm‘Ü¶o, g§b¾ N>m¶m{MÌmV A§XmOo ...... {Ûéº$ joÌ AgVo.
1) H$mhr Zmhr 2) 10% 3) 60% 4) 90%

2) In an Aerial photographs the overlapping area between adjacent photographs is approximately ......

1) Nil 2) 10% 3) 60% 4) 90%

3) {dÚwVMw§~H$s¶ dU©nQ>m‘Ü¶o Ñí¶‘mZ àH$me Va§Jbm§~r ...... µm Amho.
1) 10-2 Vo 10-3 2) 102 Vo 103 3) 104 Vo 105 4) 0.4 Vo 0.7

3) In Electromagnetic Spectrum the wave length range of visible light is µm.

1) 10-2 to 10-3 2) 102 to 103 3) 104 to105 4) 0.4 to 0.7

4) g‘wÐgnmQ>rda gd©gmYmaU hdoMm Xm~ {H$Vr AmT>iVmo?
1) 1013.2 {‘.~m. 2) 1103.2 {‘.~m. 3) 1213.2 {‘.~m. 4) 760 {‘.~m.

4) Generally what is air pressure at mean sea level ?

1) 1013.2 mb 2) 1103.2 mb 3) 1213.2 mb 4) 760 mb

5) Imbrbn¡H$s ^maVr¶ ~ZmdQ>rMm n{hbm CnJ«h àjonU H$moUVm Amho?
1) E. Eg. Eb. ìhr. 2) nr. Eg. Eb. ìhr. 3) Eg. Eb. ìhr. - 3 4) Or. Eg. Eb. ìhr.

5) Which of the following is the first Indian-built satellite launch vehicle ?

1) ASLV 2) PSLV 3) SLV-3 4) GSLV

6) 'CÎma nydu A§V[aj Cn¶moJ H§o$Ð' ¶m ZmdmÀ¶m A§V[aj H|$ÐmMo ‘w»¶mb¶ ...... ¶m amÁ¶mV Amho.
1) ‘{Unya 2) AéUmMb àXoe 3) ‘oKmb¶ 4) Amgm‘

6) The headquarter of the space centre titled as "North eastern space application centre" is located in

State.

1) Manipur 2) Arunachal Pradesh 3) Meghalaya 4) Assam

7) dmVmdaUmVrb KQ>H$m§Mm à‘mUmZwgma {dMma H$aVm CVaË¶m H«$‘mZwgma H$moUË¶m dm¶yMm JQ> AMyH$ Amho?
1) Am°p³gOZ, Zm¶Q´>moOZ, Am°aJm°Z, AmoPmoZ 2) Am°p³gOZ, Zm¶Q´>moOZ, AmoPmoZ, Am°aJm°Z
3) Zm¶Q´>moOZ, Am°p³gOZ, AmoPmoZ, Am°aJm°Z 4) Zm¶Q´>moOZ, Am°p³gOZ, Am°aJm°Z, AmoPmoZ

7) Which group of gases is correct in descending order considering the proportion of atmosphere

elements ?

1) Oxygen, Nitrogen, Argon, Ozone 2) Oxygen, Nitrogen, Ozone, Argon

3) Nitrogen, Oxygen, Ozone, Argon 4) Nitrogen, Oxygen, Argon, Ozone
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8) ^maVmÀ¶m IRS (Am¶AmaEg) àUmbrVrb gd© CnJ«h ho ...... ñdê$nmMo AmhoV.
1) ŷpñWa CnJ«h 2) gy¶m©ZwJm‘r CnJ«h 3) M§ÐJm‘r CnJ«h 4) {dfwdd¥Îmr¶ CnJ«h

8) All satellites belonging to India’s IRS series are of ...... type.

1) Geostationary 2) Sun synchronous 3) Moon synchronous 4) Equatorial

9) Imbrbn¡H$s '{‘eZ eº$s'er g§~§{YV H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV?
a) AdH$memVrb ^maVr¶ CnJ«hm§Mo g§ajU H$aUo hm {‘eZ eº$sMm à‘wI CÔoe Amho.
b) {‘eZ eº$s A§VJ©V '‘mBH«$mog°Q>-R' ¶m ^maVr¶ CnJ«hmbm A±Q>r g°Q>ocmBQ> {‘gmBbÛmam Zï> H$aÊ¶mV Ambo.
c) {‘eZ eº$s 'DRDO' Ûmao g§Mm{bV H$aÊ¶mV Ambo.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) Am{U (c) 2) ’$º$ {dYmZ (a) Am{U (b)

3) ’$º$ {dYmZ (b) 4) ’$º$ {dYmZo (a), (b) Am{U (c)

9) Which of the following statement/s related to ‘Mission Shakti’ is /are correct ?

a) The main aim of Mission Shakti is to safeguard Indian Satellites in the space.

b) Under Mission Shakti Indian Satellite ‘Microsat-R’ was destroyed by Anti Satellite

c) The Mission Shakti was conducted by ‘DRDO’.

Answer Option :

1) Only statement (a) and (c) 2) Only statement (a) and (b)

3) Only statement (b) 4) All statements (a), (b) and (c)

10) Imbrb {dYmZo nhm.
a) ^maVr¶ A§Vami g§emoYZ g§ñWm (ISRO) Mr ñWmnZm 1962 ‘Ü¶o Pmbr.
b) Ww§~m A{¾~mU àjonU ñQ>oeZ lrharH$moQ>m ¶oWo Amho.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho. 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZ (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.

10) Observe the following statements :

a) Indian Space Research Organization (ISRO) was established in 1962.

b) Thumba’ Rocket Launching Station is at Shriharikota.

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (a) and (b) are correct 4) Statement (a) and (b) are not correct

11) gwXÿa g§doXZm‘Ü¶o Ooìhm n¥ð>^mJmda D$Om© nS>Vo qH$dm D$O}Mm AmKmV hmoVmo Voìhm H$moUË¶m VrZ nañna {H«$¶m KSy>
eH$VmV?
1) emofU, àgmaU, Am{U namdV©Z 2) ghg§~§Y, dmhVyH$ Am{U namdV©Z
3) ghg§~§Y, àgmaU Am{U AndV©Z 4) ghg§~§Y, àgmaU Am{U namdV©Z

11) In remote sensing which of the three forms of interaction that can take place when energy strike

or incident upon the surface ?

1) Absorption, Transmission and reflection 2) Association, Transportation and reflection

3) Association, Transmission and refraction 4) Association, Transmission and reflection
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12) OrnrEg {g¾bÛmao O{‘Zrdarb ñWmZ {ZYm©[aV H$aUo åhUOo ...... hmo¶.
1) CnJ«h H$jm 2) S>oQ>m àmár 3) CnJ«h a|qOJ 4) S>oQ>m ‘mnZ

12) The means by which GPS signals are used to determine ground positions is called

1) Satellite orbit 2) Data receiving 3) Satellite ranging 4) Data measurement

13) '‘mg© Am°{~©Q>a {‘eZ' ¶m àH$ënmMm à‘wI CÔoe ...... hm hmoVm.
1) n¥Ïdr Vo ‘§Ji ¶m àdmgmXaå¶mZ J«hmMr emór¶ ‘m{hVr g§H${bV H$aUo
2) ‘§Ji J«hmdarb XJS>Ym|S>o d ‘mVr ¶m§Mo Z‘wZo g§H${bV H$aUo
3) ‘§Ji J«hmÀ¶m dmVmdaUmVrb nmÊ¶mMm A§e VnmgUo
4) ‘§JiJ«hmn¶ªV àdmg H$aUo d ‘§JimÀ¶m H$joV {Q>Hy$Z amhUmao A§Vami¶mZ V¶ma H$aÊ¶mMr ^maVmMr j‘Vm {gÕ

H$aUo.
13) The main objective of ‘Mars Orbiter Mission’ was

1) to gather the scientific data about planet during its journey to mars

2) to collect the rocks and soil from the surface of mars

3) to search the evidences of water molecules in the atmosphere of mars

4) to demonstrate India’s capability to build a spacecraft capable of travelling to mars and survive

in an orbit around the mars

14) BòmoMr 'JJZ¶mZ' ‘mohr‘ hr ...... ¶m H$maUmgmR>r àñVm{dV Amho.
1) A§Vamidram§Zm A§VamimV nmR>{dUo d gwIê$n n¥Ïdrda naV AmUUo.
2) ídmZm§Zm A§VamimV nmR>{dUo d gwIê$n n¥Ïdrda naV AmUUo.
3) XmoÝhr (1) d (2)
4) darbn¡H$s H$moUVohr Zmhr

14) ISRO’s mission ‘Gaganyaan’ is mainly dealing with

1) to send astronauts to space and safely return to earth

2) to send dogs to space and safely return to earth

3) both (1) and (2)

4) none of the above

15) dñVybm ñne© Z H$aVm, Ë¶m dñVy~ÔbMr ‘m{hVr {‘i{dVm ¶oVo, Ë¶m V§ÌkmZmbm ...... Ago åhUVmV.
a) Q>monmoJ«m’$s b) [a‘moQ> g|pÝg̈J c) {OAmoS>o{gH$ d) ’$moQ>moJ«m’$s
n¶m©¶r CÎmao …
1) (a) Am{U (c) XmoÝhr 2) (a) Am{U (b) XmoÝhr 3) ’$º$ (b) 4) (c) Am{U (d) XmoÝhr

15) The technology of acquisition of information about an object without making physical contact

with the object is known as ......

a) Topography b) Remote sensing c) Geodetic d) Photography

Answer Options :

1) (a) and (c) both 2) (a) and (b) both 3) Only (b) 4) (c) and (d) both

16) nwT>rbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) ̂ ypñWa H$joVrb godm OrdZ nyU© Pmë¶mZ§Va CnJ«h nwÝhm Cƒ H$joV nmR>{dbo OmVmV Am{U Z§Va {ZpîH«$¶ Ho$bo OmVmV.
b) ŷpñWa H$joVrb godm OrdZ nyU© Pmë¶mZ§Va CnJ«h gmJam‘Ü¶o nmSy>Z Zï> Ho$bo OmVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) XmoÝhr (a) Am{U (b) ~amo~a AmhoV 4) H$moUVohr ~amo~a Zmhr
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16) Which of the following statements is correct ?

a) After completion of service life satellites in geostationary orbit are re-oriented into higher

orbit and then passivated.

b) After completion of service life satellites in geostationary orbit are dopped into the ocean and

destroyed.

Answer Options :

1) (a) only 2) (b) only

3) Both (a) and (b) are correct 4) None is correct

3) AUwemó
1) Am¶ZrH$aU H$j àH$mamVrb ñ‘moH$ {S>Q>o³Q>a‘Ü¶o H$moUVm {H$aUmoËgJu nXmW© dmnabobm AgVmo?

1) ¶wao{Z¶‘ - 238 2) ßbwQ>mo{Z¶‘ - 241 3) Wmo[a¶‘ - 232 4) A‘o[a{g¶‘ - 241
1) Which radioactive material is used in ionization chamber type smoke detector ?

1) Uranium — 238 2) Plutonium — 241 3) Thorium — 232 4) Americium — 241

2) H¥$fH$ (Krushak - H¥$fr CËnmXZ g§ajU H|$Ð) ¶m ^m^m AUwg§emoYZ H|$ÐmÛmao bmgbJmd, {O. Zm{eH$ ¶oWo, 'H¥$fr
‘mbmÀ¶m OVZmgmR>r àmaUm§À¶m Aën‘mÌm§Mo AZwà¶moJ'' ¶m àmË¶{jH$mgmR>r ñWm{nV 'V§ÌkmZ àmË¶{jH$ g§¶§ÌmV'
dmnabm OmVmo.
1) H$mo~mëQ> - 60 hm J°‘m àmaUm§Mm òmoV 2) ¶wao{Z¶‘ - 235 hm Aë’$m àmaUm§Mm òmoV
3) Wmo[a¶‘ hm J°‘m àmaUm§Mm òmoV 4) A{VZrb {H$aUm§Mm òmoV

2) Krushak (Krushi Utpadan Sanrakshan Kendra), the ‘technology demonstration plant’ set up by

Bhabha atomic research centre at Laslgaon, Dist. Nashik, for demonstration of ‘low dose

applications of radiation for preservation of agricultural commodities’, uses

1) Cobalt — 60, a source of gamma radiation

2) Uranium — 235, a source of alpha radiation

3) Thorium, a source of gamma radiation

4) Source of ultraviolet radiation

3) ^maVmVrb, 'Wmo[a¶‘ Agboë¶m ‘moZmPmBQ> dmiy'‘wio [Z‘m©U hmoUmè¶m Z¡g{J©H$ àmaUm§Mo à‘mU Cƒ AgUmao joÌ ......
bm bmJyZ Amho.
1) ~§Jmb {H$ZmanÅ>r 2) Ho$ai {H$ZmanÅ>r 3) Vm{‘iZmSy> {H$ZmanÅ>r 4) JwOamV {H$ZmanÅ>r

3) In India, the areas with high level natural radiation due to ‘thorium containing monazite sand’ is

along ______.

1) Bengal Coast 2) Kerala Coast 3) Tamil Nadu Coast 4) Gujrat Coast

4) AUŵ Q²>Q>çm ho {H$aUmoËgJm©Mo ‘hÎdnyU© òmoV AmhoV, {deofV…
1) E³g ao - {H$aUmoËgJ© 2) nm°{PQ´>m°Z - {H$aUmoËgJ© 3) Aë’$m - {H$aUmoËgJ© 4) Ý¶yQ´>m°Z - {H$aUmoËgJ©

4) Nuclear reactors are significant sources of radiation, especially :

1) X-ray radiation 2) Positron radiation 3) α-radiation 4) Neutron radiation

5) ^maVr¶ A§Vami H$m¶©H«$‘m§VyZ {Z{‘©V CËnmXZo Am{U godm ¶m§À¶mnmgyZ ì¶mnmar bm^ àmá H$aÊ¶mgmR>r ^maV gaH$maZo
ñdV…À¶m ‘mcH$sMr ...... H§$nZr ñWm{nV Ho$br Amho.
1) A§V[aj {b{‘Q>oS> 2) Ý¶y ñnog B§{S>¶m {b{‘Q>oS>
3) AmD$Q> ñnog B§{S>¶m {b{‘Q>oS> 4) B§{S>¶Z ñnog A°pßbHo$eÝg {b{‘Q>oS>
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5) The Government of India owned company established to commercially exploit the products and

services emanating from India space programmes is .

1) ANTARIKSHA Limited 2) NEW SPACE India Limited

3) OUT-SPACE India Limited 4) Indian Space Applications Limited

6) AUwD$Om© àH$ënmV drO{Z{‘©VrgmR>r dmnaë¶m OmUmè¶m AmpÊdH$ {H«$¶m H$moUË¶m?
a) {dI§S>Z b) g§M¶Z c) AmpÊdH$ j¶ d) AmpÊdH$ pñWaVm
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (d) 3) (b) Am{U (d) 4) (a), (b) Am{U (c)

6) Which are the nuclear reactions used to produce electricity in Nuclear power plant ?

a) Fission (b) Fusion (c) Nuclear decay (d) Nuclear stability

Answer Options :

1) Only (a) 2) (a) and (d) 3) (b) and (d) 4) (a), (b) and (c)

7) AUweº$s H|$ÐmVyZ {Z‘m©U hmoUmè¶m {H$aUmoËgJu KZ H$Mè¶mda ¶mo½¶ Vr à{H«$¶m Ho$ë¶mZ§Va ......
1) {ZAa ga’o$g {S>ñnmoOb ’°${g{bQ>rO‘Ü¶o Ë¶mMr {dëhodmQ> bmdbr OmVo.
2) S>rn ga’o$g {S>ñnmoOb ’°{g{cQ>rO‘Ü ò Ë¶mMr {dëhodmQ> bmdbr OmVo.
3) Vmo n¶m©daUmV gmoSy>Z {Xbm OmVmo.
4) à{H«$¶m H$ê$Z Ë¶mMm nwZdm©na Ho$bm OmVmo.

7) The radioactive solid waste generated from nuclear power plants after suitable conditioning is......

1) disposed off in near surface disposal facilities

2) disposed off in deep surface disposal facilities

3) discharged in the environment

4) recycled

8) 'Wmo[a¶‘Mm AUy B§YZ åhUyZ dmna' ¶m~m~V Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) Wmo[a`‘ dmnê$Z {dÚwV{Z{‘©Vr H$aVmZm h[aVJ¥h dm¶y§Mo CËgO©Z hmoB©b.
b) Wmo[a`‘ B§YZ åhUyZ dmnaÊ¶mnydu Ë¶mMo AUŵ Å>rV ¶wao{Z¶‘-233 ‘Ü¶o ê$nm§Va H$aUo Amdí¶H$ Amho.
c) ^maVmV ¶wao{Z¶‘À¶m VwbZoV Wmo[a¶‘Mr g§gmYZo ‘`m©{XV AmhoV.
d) Ho$ai Am{U Amo[agm {H$ZmanÅ>rVrb dmiyV, ‘moZ°PmB©Q>Mo, Á¶mV Odinmg 8-10% Wmo[a`‘ AgVo, ‘w~bH$ gmR>o

AmhoV.
n¶m©¶r CÎmao …
1) (b), (c) Am{U (d) 2) (a), (b) Am{U (c) 3) (c) Am{U (d) 4) (b) Am{U (d)

8) Which of the following statements are true regarding the ‘use of Thorium as a nuclear fuel’ ?

a) There will be emission of green house gases during electricity generation using Thorium.

b) Thorium has to be converted to Uranium-233 in a reactor, before it can be used as a fuel.

c) India has timited resources of Thorium as compared td Uranium.

d) The beach sands of Kerala and Orissa have rich reserves of Monazite, which contains about 8-

10 % Thorium.

Answer Options :

1) (b), (c) and (d) 2) (a), (b) and (c) 3) (c) and (d) 4) (b) and (d)
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9) Imbrbn¡H$s H$moUVr {dYmZo Iar AmhoV?
i) {d{H$aU hm{ZH$maH$ {OdmUy H$‘r H$ê$Z AÞ CËnmXZo A{YH$ gwa{jV ~ZdVmV.
ii) {d{H$aU AÞ CËnmXZo {H$aUmoËgJu ~ZdVmV.
iii) AÞ {d{H$aUm‘wio AÞmMo nm¡{ï>H$ ZwH$gmZ H$‘r Amho.
iv) AÞ {d{H$aUmbm OmJ{VH$ Amamo½¶ g§KQ>Zo (WHO) Mo g‘W©Z {‘imbo Zmhr.
n¶m©¶r CÎmao …
1) (i) Am{U (ii) 2) (i) Am{U (iii) 3) (i) Am{U (iv) 4) (ii) Am{U (iv)

9) Which of the following statements are true ?

i) Irradiation makes food products safer by reducing the harmful bacteria.

ii) Irradiation makes foods radioactive.

iii) Nutrients losses caused by irradiation of foods are less.

iv) Irradiation of foods has not received official endorsement from WHO.

Answer Options :

1) (i) and (ii) 2) (i) and (iii) 3) (i) and (iv) 4) (ii) and (iv)

10) AmpÊdH$ {d^mOZ à{H«$¶oV, {d^m{OV VwH$S>çm§Zm
1) Cƒ J{VO D$Om© AgVo 2) Cƒ pñWVrV D$Om© AgVo
3) (1) Am{U (2) XmoÝhrhr 4) {ZåZ J{VO D$Om© AgVo

10) In nuclear fission process, the fission fragments

1) posses high kinetic energy 2) posses high potential energy

3) both (1) and (2) 4) posses low kinetic energy

11) Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) àmaUm§Zr à{H«$¶m Ho$bobo AÞ ho Zoh‘rM KmVH$ AgVo.
b) J°‘m àmaUm§Mm dmna H$ê$Z CËn[adV©Z (mutation) KS>dyZ Cƒ CËnÞ XoUmar ~rOo {‘iy eH$VmV.
c) AÞmMm j¶ hmoUo bm§~{dÊ¶mgmR>r H$aÊ¶mV ¶oUmè¶m àmaU CnMmam§V j-{H$aU dmnaVm ¶oV ZmhrV.
n¶m©¶r CÎmao …
1) a, b d c 2) ’$º$ a d b 4) ’$º$ b 4) ’$º$ b d c

11) Which of the following statements are correct ?

a) Radiation processed food is always harmful.

b) High yielding seed varieties can be obtained by inducing mutation using Gamma radiation.

c) X-rays can not be used in radiation treatment of food to delay food-decay.

Answer options :

1) a, b and c 2) Only a and b 4) Only b 4) Only b and c

12) AmpÊdH$ H$Mè¶m‘Yrb {H$aUmoËgJ© nmVirÀ¶m AmYmao ^maVmVrb AmpÊdH$ H$Mè¶mMo dJuH$aU Ago Amho.
a) H$‘r-nmVirMm {H$aUmoËgJ© Agbobm AmpÊdH$ H$Mam.
b) Q´>m§g¶wao{ZH$ AmpÊdH$ H$Mam.
c) ‘Ü¶‘-nmVirMm {H$aUmoËgJ© Agbobm AmpÊdH$ H$Mam.
d) Cƒ-nmVirMm {H$aUmoËgJ© Agbobm AmpÊdH$ H$Mam.
n¶m©¶r CÎmao …
1) a, b 2) b, c, d 3) b, d 4) a, c, d
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12) Depending upon the level of radioactivity in the nuclear waste the nuclear waste in India is classified

as

a) Low-level nuclear waste. b) Transuranic nuclear waste.

c) Intermediate level nuclear waste. d) High-level nuclear waste.

Answer options :

1) a, b 2) b, c, d 3) b, d 4) a, c, d

2) gm‘mÝ¶ {dkmZ - agm¶Zemó (Ho${‘ñQ́>r)

1) {dñ’$moQ> Pmë¶mZ§Va EH$ Q>Z Q>r.EZ.Q>r. (T.N.T.) ...... EdT>r D$Om© CËg{O©V H$aVo.
1) 1.5 {~{c`Z Á¶yëg 2) 2.3 {~{c`Z Á¶yëg 3) 3.5 {~{c`Z Á¶yëg 4) 4.2 {~{c`Z Á¶yëg

1) One ton of T.N.T. releases of energy upon detonation.

1) 1.5 billion joules 2) 2.3 billion joules 3) 3.5 billion joules 4) 4.2 billion joules

3) Ordemó d O¡dV§ÌkmZ
1) ^maVmZo hiXrdarb noQ>§Q>Mr bT>mB© qOH$br Voìhm ...... ho CSIR Mo ‘hmg§MmbH$ hmoVo.

1) àm. Eg. Ho$. Omoer 2) S>m°. d§XZm {edm 3) S>m°. Ama. E. ‘meocH$a 4) S>m°. E‘. Amo. JJ©
1) ______ was the Director General of CSIR when India won the battle for Patent on Haldi (Turmeric).

1) Prof. S. K. Joshi 2) Dr. Vandana Shiva 3) Dr. R. A. Mashelkar 4) Dr. M. O. Garg

2) ^maVr¶ emókm§Zr aº$mVrb ...... Zm AQ>H$md H$aUmao {deof ~hþcH$ dmnê$Z ZdrZ {dH${gV Ho$boë¶m aº$ {nedr‘wio
aº$ g§MmaU ¶mo½¶ amhÿZ Ë¶mMm gmR>dU H$mi 51 {Xdgmn¶ªV dmT>{dbm Amho.
1) à{Vj‘VmH$mar noer ‘¥Ë¶y 2) H$dH${dÐì¶ Am{U {à¶m°Ýg
3) g§XÿfUH$mar {OdmUy Am{U {dfmUy 4) aoUy ñdê$nr g§¶mo{OV hmZr

2) Indian scientists have developed a novel blood bag using special polymers that capture ______  in

blood, increasing its shelf life to 51 days and keeping it transfusion worthy.

1) Immunogenic cell death 2) Mycoplasma and prions

3) Bacterial and viral contaminants 4) Damage-associated molecular patterns

3) ~¥hV^ú¶m§gma»¶m noer D$Vt‘Ü ò doJdoJir H$m¶} H$aVmV Am{U Ë¶m§À¶m ñWmZm§Zwgma Ë¶m§Zm Zmdo {Xbr OmVmV.
¶H¥$VmVrb ~¥hV^jtZm (i) ...... Am{U d¥̧ $mVrb ~¥hV^jtZm (ii) ...... Aer Zmdo AmhoV.
1) (i) b±Jah°Ýg (ii) Am°pñQ>Amo ³bmñQ²>g
2) (i) dm¶wH$moe (ii) ^jH$noer
3) (i) ‘m¶H«$mop½bA°b (ii) VmaH$mnoer
4) (i) H$ß’$a (ii) ‘og°Z²OrAb

3) Macrophage-like cells serve different functions in tissues and are named according to their

location. Macrophages in the liver are named as (i) ___ and those in kidney are named as (ii) ___

1) (i) Langerhans (ii) Osteoclasts

2) (i) Alveolar (ii) Histiocytes

3) (i) Microglial (ii) Astrocytes

4) (i) Kupffer (ii) Mesangial
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4) OZZr¶ nXmWm©bm ...... à{V{X{áerb a§OH$ ~m§YVmo Am{U S>r.EZ.E. d Ama.EZ.E. ‘Ü¶o {d ô{XV H$ê$ eH$Vmo.
1) {‘{Wb Zm[a¨Jr 2) A°H«$sS>rZ Zm[a¨Jr 3) ñ’${Q>H$s Om§̂ im 4) OoZeZ Om§̂ im

4) ......... a fluorescent dye binds to the genetic material and can differentiate between DNA and

RNA. .

1) Methyl Orange 2) Acridine Orange 3) Crystal Violet 4) Gentian Violet

5) nr.Q>r.gr.À¶m g§X^m©V ...... À¶m ‘rcZ à{H«$¶oA§VJ©V XmoZ {^Þ d§eo{Vhm{gH$ OmVtnmgyZ gm¶{~«S²>gMr {Z{‘©Vr hmoVo.
1) OrdÐì¶H$ 2) noerÐì¶ g§OrZ 3) H|$ÐH$ g§OrZ 4) h[aVbdH$

5) In reference to PTC Cybrids are formed during fusion of from two phylogenetically distant species.

1) Protoplasts 2) Cytoplasmic genome3) Nuclear genome 4) Chloroplasts

6) à{WZo g§Ho$VrH$aU H$aUmè¶m g‘J« {OZm§À`m g§J«hmbm ...... Ago åhUVmV.
1) g§OrZ 2) ‘oQ>m~mobmo‘ 3) B§Q´>mo‘ 4) E³Pmo‘

6) The entire collection of protein encoding genes is called as ......

1) Genome 2) Metabolome 3) Introme 4) Exome

7) AbrH$S>o ’¡$bmd Pmbobm Jm¶rJwam§‘Yrb ËdMoMm JwR>ir amoJ ...... AgUmè¶m {dfmUy§‘wio Pmbm Amho.
1) EH$b nÅ> aoIr¶ Ama. EZ. E. 2) Xþhoar nÅ> aoIr¶ Ama. EZ. E.
3) EH$b nÅ> aoIr¶ S>r. EZ. E. 4) Xþhoar nÅ> aoIr¶ S>r. EZ. E.

7) The recent outbreak of the lumpy skin disease in cattle is caused by a ...... containing virus.

1) Single stranded linear RNA 2) Double stranded linear RNA

3) Single stranded linear DNA 4) Double stranded linear DNA

3) gm‘mÝ¶ {dkmZ - àm{Uemó, dZñn{Vemó

1) nmbme ‘ybÐì¶mMo (nmoQ>°{e¶‘Mo) nmbme Am°³gmB©S> (nmoQ>°{e¶‘ Am°³gmB©S>) ‘Ü¶o ê$nm§Va H$aÊ¶mMm ...... hm JwUm§H$
Amho.
1) 1.20 2) 2.29 3) 1.66 4) 1.39

1) Conversion factor of K element into K
2
O is ......

1) 1.20 2) 2.29 3) 1.66 4) 1.39

2) ^mV {nH$mMr nmÊ¶mMr Amdí¶H$Vm ...... Amho.
1) 150 Vo 200 {‘‘r 2) 900 Vo 2500 {‘‘r 3) 400 Vo 600 {‘‘r 4) 450 Vo 650 {‘‘r

2) A water requirement of rice crop is ......

1) 150 to 200 mm 2) 900 to 2500 mm 3) 400 to 600 mm 4) 450 to 650 mm

3) gwnrH$ ‘mVrVyZ PmS>m§À¶m ‘wim§‘Ü¶o ...... bm {nar’$m°‘}ñ’$moam B§{S>H$m, EH$ A§Vg©hOrd J{Verb H$aVmo.
1) ñ’w$aX 2) Zm¶Q´>oQ> 3) J§YH$ 4) nmoQ>°{e`‘

3) Piriformospora indica an endosymbiont mobilizes ______ from enriched soils into the roots of

the plants.

1) Phosphorous 2) Nitrates 3) Sulphur 4) Potassium
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4) dZñnVr OJVmVrb gdm©V ‘moR>o ...... Mo ’y$b Amho.
1) Q>m¶Q>Z Aa‘ 2) gỳ ©’y$c 3) H$‘i 4) a°âbo{g¶m AaZmoëS>r

4) The biggest flower in the plant kingdom is ........

1) Titan arum 2) Sunflower 3) Lotu 4) Rafflesia arnoldi

5) dZñnVr‘Ü¶o ...... ‘wio gwédmVrÀ¶m ‘wim§Mm {dH$mg d dmT> hmoVo.
1) H°$pëeA‘ 2) ‘°¾o{eA‘ 3) ZÌ 4) nmbme

5) ...... promotes early root development and growth in plants :

1) Calcium 2) Magnesium 3) Nitrogen 4) Potassium

6) OmoS>çm bmdm.
(gyú‘ AÞÐì¶o)                     (H$m¶©)
a) OñV (qPH$) i) ZdrZ noetMm {dH$mg d dmT>
b) ‘m°brãS>oZ‘ ii) àH$meg§íbofUgmR>r Amdí¶H$
c) ŠcmoarZ iii) e|J Hw$imVrb {nH$m‘Ü¶o ZÌ pñWarH$aU
d) ~moam°Z iv) AZoH$ EZPmBågMo KQ>H$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)

6) Match the followings :

(micro nutrients)                    (Function)

a) Zine i) Development and growth of new cells

b) Molybdenum ii) Essential for photosynthesis

c) Chlorine (iii) Nitrogen fixation in legumes

d) Boron iv) Constituent of several enzymes

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (i) (iv) (ii)

7) H$moUË¶m àH$maMo Ord H$m~©ZMm òmoV åhUyZ g|{Ð¶ g§¶wJo dmnaVmV?
1) Am°Q>moQ´>m°âg 2) ’°$H$ëQ>o{Q>ìh 3) {H$‘moAm°Q>moQ´>m°âg 4) hoQ>amoQ´>m°âg

7) Which type of soil organisms use organic compounds as their source of carbon ?

1) Autotrophs 2) Facultative 3) Chemoautotrophs 4) Heterotrophs

8) àmUdm¶y{edm¶ OJUmao {OdmUy ...... ¶m AmYmamda Ho$boë¶m dJuH$aUmV ‘moS>VmV.
1) nmofU Am{U D$Om© 2) àmUdm¶y Amdí¶H$Vm 3) ghOrdr nañnag§~§Y 4) AghOrdr nañnag§~§Y

8) Anaerobic bacteria are classified under ......basis.

1) Nutrition and energy 2) Oxygen requirement

3) Symbiotic relationship 4) Non symbiotic relationship
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9) à{WZo ho Ago ...... g§¶wJ Amho H$s Oo n[ag§ñWoMo g§aMZmË‘H$ d¡{eîQ>ço R>adVmV.
1) Ag|{Ð¶ 2) g|{Ð¶ 3) amgm¶{ZH$ 4) darbn¡H$s H$moUVohr Zmhr

9) Protein is considered as compound which make up the structural aspects of an ecosystem.

1) inorganic 2) organic 3) chemical 4) None of the above

10) OmoS>çm bmdm.
(Am¡fYr) (dZñnVr/~waer)
a) no{Z{g{bZ i) noarqdH$b (H$mWma°ÝWa)
b) {¹$ZmBZ ii) no{Z{g{b¶‘
c) {dZãbmñQ>rZ iii) ’$m°³g½bmoìh
d) {S>{OQ>°brZ iv) qgH$moZm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (ii) (iv) (i) (iii)

4) (ii) (iii) (iv) (i)

10) Match the following :

(Drugs/Medicines) (Plants/Fungus)

a) Penicillin i) Periwinkle (Catharanthus)

b) Quinine ii) Penicillium

c) Vinblastin iii) Foxglove

d) Digitalin iv) Cinchona

Answer Options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (ii) (iv) (i) (iii)

4) (ii) (iii) (iv) (i)

11) ...... ¶m ImaQ>nUm à{VamoYr ̂ mVmÀ¶m àH$mamÀ¶m nwZé‚mrdZmg MoÞB© pñWV {dZm Z’$m VÎdmdarb E‘. Eg. ñdm{‘ZmWZ
à{Vð>mZmZo ‘XV Ho$br.
1) H$½Jm 2) ‘°ÝQ>mamo 3) H$m§Q>mo 4) hm‘m

11) Chennai based non-profit M.S. Swaminathan Research Foundation helped revive the cultivation

of ______ a salinity resistant paddy variety.

1) Kagga 2) Mantaro 3) Kanto 4) Hama

12) a) ______ À¶m EodOr b) ______ ‘Yrb ’$m¶Q>moBZ qgWoO OrZ dmnê$Z gmoZoar Vm§Xÿi-2 {dH${gV Ho$bm Jobm.
1) a) ‘H$m b) S>°’$mo{S>b
2) a) ‘mohar b) {bbr
3) a) gỳ ©’y$c b) M‘obr
4) a) ‘wim b) eod§Vr
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12) Golden Rice — 2 was developed using phytoene synthase gene from

a) ______ instead of b) ______

1) a) Maize b) Daffodil

2) a) Mustard b) Lily

3) a) Sunflower b) Jasmine

4) a) Raddish b) Chrysanthemum

13) ...... nmgyZ V¥Vr¶ {nT>rVrb ~m¶mo{S>Pob V¶ma Ho$bo OmVo.
1) gyú‘ e¡dmb 2) ImÚ VobmMm H$ƒm ‘mb
3) AImÚ VobmMo òmoV 4) àmÊ¶m§Mr Ma~r

13) The third generation biodiesel is produced from ______

1) Microalgae 2) Feedstock of edible oils

3) Non-edible oil sources 4) Animal fat

14) gZ 2012, ‘Ü¶o dZñnVrZo ~Z{dboë¶m {dH$ambm ‘mZdr dmnamgmR>r ¶w. Eg. E’$. S>r. E. Zo ‘mÝ¶Vm {Xbr. ho {dH$a
...... À¶m noer‘Ü¶o AZwdm§{eH$ A{^¶m§{ÌH$s ~Xb H$ê$Z V¶ma Ho$bo Jobo.
1) A°a°~rS>m°pßgg 2) JmOa 3) V§~mIy 4) Q>mo‘°Q>mo

14) In the year 2012, the first plant made enzyme was approved by USFDA for human use. This was

produced using genetically engineered ______ cells.

1) Arabidopsis 2) Carrot 3) Tobacco 4) Tomato

15) OmoS>çm Owidm.
                        A                                ~

a) nmXn/dZñnVr O¡dg§a{jV nmVir-1 i) OZ{ZH$ÑîQ>çm A{^¶m§{ÌH$s nmXn/dZñnVr
b) nmXn/dZñnVr O¡dg§a{jV nmVir-2 ii) Á¶m g§emoYZmV dmnamgmR>r g§a{jV AgUmè¶m nmXnm§À¶m/

dZñnVrÀ¶m ImÚdmnamgmR>r gw¶mo½¶ AgUmè¶m nmXnm§À¶m
S>r.EZ.E.Mo gmXarH$aU g‘m{dï> Amho.

c) nmXn/dZñnVr O¡dg§a{jV nmVir-3 iii)VUm§À¶m ~amo~a ¶mo½¶ g§H$aU hmoD$ eH$Umè¶m Or. B.
Am{U VrZÀ¶m darb nmXnm§Mo g§emoYZ d {dH$mg H$m¶©

n¶m©¶r CÎmao …
(a) (b) (c)

1) (iii) (ii) (i)

2) (iii) (i) (ii)

3) (i) (ii) (iii)

4) (ii) (iii) (i)

15) Match the following :

                     A                                 B

a) Plant Biosafety level 1 i) Genetically engineered plants involving

biopharming experiments

b) Plant Biosafety level 2 ii) Research involving plants with introduction

of DNA from plants safe for consumption

c) Plant Biosafety level 3 and above 3 iii)R&D work with GE plants that may be capable

of mterbreeding with weeds
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Answer Options :

(a) (b) (c)

1) (iii) (ii) (i)

2) (iii) (i) (ii)

3) (i) (ii) (iii)

4) (ii) (iii) (i)

16) noaUrnyd© {~`m§da ’$m¶Xoera Ordm§gmo~V Ho$boë¶m O¡{dH$ CnMma nÕVrg ...... Ago åhUVmV.
1) O¡dJw{Q>H$mH$aU 2) O¡d gOmdQ> H$aUo 3) O¡d àm¶q‘J 4) O¡d d¥ÕËd

16) The process of biological treatment of seeds with beneficial organisms prior to sowing is called

as ......

1) Bio pelleting 2) Bio dressing 3) Bio priming 4) Bio ageing

17) dZñnVtÀ¶m qH$dm àmÊ¶m§À¶m noer VgoM Am°J}Zoëg‘Ü¶o S>r.EZ.E. À¶m {dVaU H$aÊ¶mH$[aVm Ooìhm S>r.EZ.E.Zr bonbobo
noboQ> X~mdmImbr PmS>bo OmVmV Ë¶mbm ...... Ago åhUVmV.
1) ~m¶mo{bñQ>r³g 2) Z°ZmoOo³eZ 3) ‘mH«$moB§Oo³eZ 4) Bbo³Q´>monmoaoeZ

17) Delivery of DNA into plant and animal cells and organelles by means of DNA-coated pellets

fired under pressure is called as .

1) Biolistics 2) Nanojection 3) Microinjection 4) Electroporation

18) nr.Q>r.gr. ‘Ü¶o nr.EM. 5.0-6.0 n[a‘mU ho D$Vrg§dY©Z ‘mÜ¶‘mH$[aVm AZwHw$bV‘ ‘mZbo OmVo. Ë¶mnojm CƒVa
nr.EM. n[a‘mUmV (i) ...... {XgyZ ¶oVo VWm{n {ZåZ n[a‘mUmV (ii) ...... hm {ZU©¶ g§̂ dVmo.
1) (i) A°JmaMo jrUYZrH$aU (ii) H$R>rU ‘mÜ¶‘ 2) (i) H$R>rU ‘mÜ¶‘ (ii) A°JmaMo jrUYZrH$aU
3) (i) D$Üd© C^¶amoYr (ii) Mm§Jbr dmT> 4) (i) H$‘r dmT> (ii) VS>OmoS> Ho$bobo C^¶amoYr

18) In PTC, a pH between 5.0-6.0 is considered optimal for the tissue culture media.

A higher pH gives (i) ....................... while lower pH results in (ii)......................

1) (i) poor solidification of agar, (ii) hard medium

2) (i) hard medium, (ii) poor solidification of agar

3) (i) superior buffering, (ii) better growth

4) (i) lesser growth, (ii) compromised buffering

19) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) ‘moR>çm (CƒdJu¶) dZñnVr dmVmdaUmVrb ZÌmMm dmna H$ê$ eH$V ZmhrV.
b) dmT>Umar dZñnVr hr Ë¶mg bmJUmè¶m H$~©gmR>r ‘w»¶Ëdo hdoVrb H$m~©Z S>m¶Am°³gmB©S>da Adb§~Vo.
c) ‘moR>o àmUr hdoVrb H$m~©Z S>m¶Am°³gmB©S>Mm dmna H$ê$ eH$V Zmhr?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) darb gd©

19) Which of the following sentence is true ?

a) Higher plants are unable to make use of atmospheric nitrogen.

b) Growing plant mainly depends for its carbon on carbon dioxide of air.

c) Higher animals cannot utilize the CO, of the air.

Answer Options :

1) only (a) 2) only (b) 3) only (c) 4) All of these
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4) Amamo½¶emó (hm¶OrZ)
1) OmJ{VH$ nmVirda gwYm[aV noer Am{U OrZ CnMma nÕVrÀ¶m ‘mZ{MÌmV ^maVmg ñWmZ {‘idyZ XoUmao ^maVmV àW‘

~Z{dbobo ‘mZdr¶ gr.E.Ama.-Q>r noer CnMma ho ...... cpú`V CËnmXZ Amho.
1) gr S>r 45 2) gr S>r 8 3) gr S>r 19 4) gr S>r 4

1) The 1st humanised, Mode in India CAR-T cell therapy is a ______  targeted product that will put

India on a global advanced cell and gene therapy map.

1) CD 45 2) CD 8 3) CD 19 4) CD 4

2) ’o${Zb{H$Q>moÝ¶w[a¶m hm gm‘mÝ¶V… ...... JwUgyÌmÀ¶m bm§~ ~mhÿdarc OZwH$mÀ¶m AàH$Q> CËn[adV©Zm‘wio hmoVmo.
1) 5 2) 9 3) 12 4) y

2) Phenylketonuria is most commonly caused by a recessive mutation of a gene on the long arm of

chromosome _______

1) 5 2) 9 3) 12 4) y

3) {ndim Vmn {dfmUy, {PH$m {dfmUy (OrAma. âb°{d{d[aS>m) Am{U B~mocm Vmn {dfmUy ho ^maVmÀ¶m O¡dV§ÌkmZ {d^mJmZo
(DBT) ...... gyú‘{Odm§À`m ¶mXr‘Ü¶o g‘m{dï> Ho$bo AmhoV.
1) OmoIr‘ JQ> 1 2) OmoIr‘ JQ> 2 3) OmoIr‘ JQ> 3 4) OmoIr‘ JQ> 4

3) Yellow fever virus, Zika virus (Gr. Flavivirida) and Ebola fever virus are included in the list of

______ microorganisms by Department of Biotechnology (DBT), India.

1) Risk Group1 2) Risk Group 2 3) Risk Group 3 4) Risk Group 4

4) Zmo~ob nm[aVmo{fH$ {dOoË¶m§À¶m Ë¶m§À¶m g§emoYZmZwgma OmoS>çm Owidm.
        A                           ~

a) am°~Q>© H$m°H$ i) à{Vj‘VoVrb Ord{dfamoYH$m§Mr ŷ{‘H$m
b) nm°b AhabrM ii) {H$aUmoËgmar Am‘mnZmMm {dH$mg
c) amoP°{bZ ¶mbmo iii) noer¶ j¶amoJà{Vj‘Vm
d) H$mb© b±S>ñQ>o{ZAa iv) ‘mZdr aº$JQ>m§Mm emoY
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iii) (i) (ii) (iv)

3) (ii) (iii) (iv) (i)

4) (i) (iv) (iii) (ii)

4) Match the Nobel Prize Winners with their Research :

           A                          B

a) Robert Koch i) Role of antitoxins in immunity

b) Paul Ehrlich ii) Development of radio immunoassay

c) Rosalyn Yalow iii) Cellular immunity to Tuberculosis

d) Karl Landsteiner iv} Discovery of human blood groups

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iii) (i) (ii) (iv)

3) (ii) (iii) (iv) (i)

4) (i) (iv) (iii) (ii)
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5) gZ 2023 Mo d¡ÚH$s¶ Zmo~ob nm[aVmo{fH$ ...... g§~§{YV emoYmgmR>r XoÊ¶mV Ambo.
1) Vmn‘mZ J«mhr Am{U ñne©J«mhr 2) Ý¶wp³b¶mogmBS> Vb ’o$a~Xb
3) bwá hmo{‘{ZågMr g§OrZo d ‘mZdr CËH«$m§Vr 4) ZdrZ {hn°Q>m¶Q>rg 'gr' àH$maÀ¶m {dfmUyMr AmoiI

5) The 2023 Nobel prize in medicine was awarded for the discoveries concerning

1) Receptors for temperature and touch

2) Nucleoside base modifications

3) The genomes of extinct hominims and human evolution

4) Identification of novel hepatitis C virus

6) ...... ¶m gm‘mÝ¶V… dmnaë¶m OmUmè¶m Aën‘m¡br ñWmZr¶ ŷb XoUmè¶m A§Vjon{UV Am¡fYmZo {djonUmMm YmoH$m
djñWir¶ H$H©$amoJmÀ¶m eó{H«$¶oV H$‘r hmoVmo.
1) arQy>³Pr‘°~ 2) ã¶wnrìhmoZm°a 3) {b¾moHo$Z 4) {bS>moS>‘©

6) ______ a commonly used inexpensive local anaesthetic has been found to reduce the risk of

metastasis in breast cancer surgery.

1) Rituximab 2) Bupivanor 3) Lignocaine 4) Lidoderm

7) ~°{gbg H°$ë‘oQ> JwEarZMr (~r.gr.Or.) bg ...... À¶m H¥$e Ho$boë¶m dmUmnmgyZ {dH${gV Ho$br Jobr hmoVr.
1) ¶oagrZr¶m noñQ>rg 2) H$mo[aZmo~m°³Q>o[a¶‘ {S>ßWr[a¶o
3) ao~rO {dfmUy 4) ‘m¶H$mo~°³Q>o[a¶‘ ~mopìhg

7) Bacillus Calmette Guerin (BCG) vaccine was developed from attenuated strain of ______

1) Yersinia Pestis 2) Corynebacterium diptheriae

3) Rabies virus 4) Mycobacterium bovis

8) {dH$a g§{hVm~Õ H$aUmao OZwH$ ...... ho EH$ AmË‘KmVH$s OZwH$ AgyZ Ë¶mMm Cn¶moJ H$mhr àH$maÀ¶m H$H©$amoJm§da
CnMma åhUyZ Ho$bm OmVmo.
1) Q>m`amo{gZ H$m¶ZoO 2) {W«¶moZrZ H$m¶ZoO 3) WmB{‘S>rZ H$m¶ZoO 4) Wm¶am°p³gZ H$m¶ZoO

8) The gene encoding the enzyme ______  is referred to as the suicide gene and is used for treatment

of certain cancers.

1) Tyrosine Kinase 2) Threonine Kinase 3) Thymidine Kinase 4) Thyroxine Kinase

9) ‘mZdr amoJ g§emoYZmV {d^d Agbobo A§JH$ ...... ho AmhoV.
1) ñd¶§g§K{Q>V {Ì{‘Vr¶ noer g§dY©Z g§ñWm 2) {Ì{‘Vr¶ nam§À¶m§Mo ñVamdam ñVamMo {ZjonU
3) g‘wƒ{¶V noetMr Jmobr¶ g§aMZm 4) A§S>mH$mar n¥ð>mda dYu EH$bñVa

9) Organoids, that have shown potential in human disease research are ......

1) Self organizing 3D cell culture systems 2) Layer by layer deposition of 3D scaffolds

3) Spherical structures of aggregated cells 4) Monolayers growing on oval surface

10) B.g. 1949 ‘Ü¶o agm¶Zemók bm¶Zg nm°qbJ Am{U Ë¶mÀ¶m VrZ ghH$mè¶m§Zr ...... darb à{gÕ Ho$boë¶m N>moQ>çm
boIm‘wio 'aoUy amoJm§darb' g§emoYZmÀ¶m e³¶Vm CKS> Pmë¶m.
1) W°bo{g{‘¶m 2) ‘m¶bmo‘m 3) {gH$b-gob A°{Z{‘¶m 4) Vrd« ‘‚mm^ ë¶wHo${‘¶m

10) In the year 1949, Chemist Linus Pauling and three of his colleagues published an article on ......

that opened possibilities for research into ‘molecular diseases’.

1) Thalassemia 2) Myeloma

3) Sickle-cell anemia 4) Acute myeloid leukaemia
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11) amï´>r¶ S>oAar {dH$mg ~moS>m©Mo ~hþ{dY A§S>moËgJu «̂yU ñWmZm§VaU V§ÌkmZo D$Üd© XOmªÀ¶m Xþ½YXo¶H$ ney§À¶m ‘mÚm§Mo
àOZZmMo à‘mU dmT>Vo. ¶m V§ÌmVrb à{H«$¶oV ...... ¶m g‘mZ {H«$¶m AgUmè¶m g§àoaH$mMo Q>moMU Ho$bo OmVo.
1) E{nZo’«$sZ 2) Am°p³gQ>mo{gZ 3) nwQ>H$ CÔrnrV H$aUmao g§àoaH$ 4) BñQ´>moOoZ

11) National dairy development board’s multiple ovulation embryo transfer technology increases

reproduction rate of superior female dairy animals. This technique involves administration of

hormones with ...... like activity.

1) Epinephrine 2) Oxytocin

3) Follicle stimulating hormone 4) Estrogen

12) ...... ñnoerO ho EH$ àdV©H$ g§dY©Z åhUyZ dmnê$Z nma§nm[aH$ {H$ÊdZ Ho$bobo ImÚ V|ßho ho B§S>moZo{e¶mV {dñVmamZo dmnabo
OmVo.
1) b°³Q>mo~°{gbg 2) no{Z{g{b¶‘ 3) A°ñnaOrbg 4) èhm`Pmoßg

12) Tempeh a traditional fermented food consumed widely in Indonesia is fermented using ...... species

as a starter culture.

1) Lactobacillus 2) Penicillium 3) Aspergillus 4) Rhizopus

13) ìhm°a‘m±Q> {díd{dÚmb¶ Am{U Q>âQ>g {díd{dÚmb¶mÀ¶m g§Km§Zr ~Z{dbobr ñd¶§à{VH$aUr¶ gOrd ¶§Ì‘mZd (amo~mo)
...... Am{U ...... Am{’«$H$s ZIar ~oS>H$mÀ¶m noetMm Amho.
1) ewH«$noer Am{U ~rOm§S> 2) öX¶r Am{U ËdMm
3) Ho$eê$ Am{U aº$ 4) AmpñWOZH$ noer Am{U AmpñWemofH$ noer

13) Xenobots or self replicating living robots built by the University of Vermont and team at Tufts

University consists of ...... and ...... cells of the African clawed frog.

1) Spermatozoa and ova 2) Cardiac and skin

3) Neural and blood 4) Osteoblasts and osteoclasts

5) ‘m{hVr V§ÌkmZ
1) E’$. E‘. àgmaUmH$[aVm dmnaë¶m OmUmè¶m dma§dm[aVoMr ì¶már ...... Amho.

1) 88 {H$bmo hQ>©ËP Vo 108 {H$bmo hQ>©ËP 2) 88 ‘oJm hQ>©ËP Vo 108 ‘oJm hQ>©ËP
3) 88 {JJm hQ>©ËP Vo 108 {JJm hQ>©ËP 4) 80 ‘oJm hQ>©ËP Vo 190 ‘oJm hQ>©ËP

1) FM radio broadcasting have frequency range ______

1) 88 KHz to 108 KHz 2) 88 MHz to 108 MHz

3) 88 GHz to 108 GHz 4) 80 MHz to 180 MHz

2) ‘m{hVr V§ÌkmZ H$m¶Xm 2000 Zwgma, g§JUH$ òmoV XñVEodOm§er N>oS>N>mS> Ho$ë¶m~Ôb {ejm ...... ¶m H$b‘mZwgma Amho.
1) 65 2) 66 A 3) 66 B 4) 66 F

2) According to IT Act — 2000, punishment for tampering of computer source documents belong

to Section ______

1) 65 2) 66 A 3) 66 B 4) 66 F

3) ...... ^maVmVrb gaH$mar g§ñWm§Zm ZoQ>dH©$ ~°H$~moZ Am{U B©-JìhZ©Ýg gnmoQ>© àXmZ H$aVo.
1) EZ. Am¶. gr. 2) Z°gH$m°‘ 3) ‘m{hVr V§ÌkmZ {d^mJ 4) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m

3) ______ provides Network backbone and e-Governance support to government bodies in India.

1) NIC 2) NASSCOM

3) Department of Information Technology 4) State Bank of India
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4) dm°H$s-Q>m°H$s ...... ‘Ü¶o MmbVo.
1) {gåßbo³g ‘moS> 2) hm’$ S>çwßbo³g ‘moS> 3) ’w$„ S>çwßbo³g ‘moS> 4) go‘r S>çwßbo³g ‘moS>

4) A Walkie-Talkie operates in ......

1) simplex mode 2) half duplex mode 3) full duplex mode 4) semi-duplex mode

5) bmoH$m§Zm Ë¶m§À¶m ‘wbm§À¶m ^{dî¶mgmR>r gdm}Îm‘ {ZU©¶ KoÊ¶mg ‘XV H$aUmar Imbrbn¡H$s H$moUVr {ZU©¶ àUmbr Amho?
1) B©-nmR>emim 2) gmam§e 3) emim {gÕr 4) ñd¶§à^m

5) Which of the following is a Decision Support System for assisting people in taking the best

decisions for their children’s future ?

1) E-Pathshala 2) Saransh 3) Shala Siddhi 4) Swayamprabha

6) ‘erZ b{ZªJ {gñQ>r‘ Or bo~b Zgboë¶m S>oQ>m‘YyZ bnbobr aMZm emoYÊ¶mMm à¶ËZ H$aVo, Vr {gñQ>r‘ ...... ZmdmZo
AmoiIbr OmVo.
1) gwnadmB©ÁS> b{ZªJ 2) AZgwnadmB©ÁS> b{ZªJ 3) [aEZ’$mog©‘|Q> b{ZªJ 4) go‘r-gwnadmB©ÁS> b{ZªJ

6) Machine Learning System which attempts to find hidden structure from unlabelled data is known

as ......

1) Supervised Learning 2) Unsupervised Learning

3) Reinforcement Learning 4) Semi-supervised Learning

7) ¶mXr - 1 Am{U ¶mXr - 2 À¶m OmoS>çm Owidm.
¶mXr - 1 (B©-CnH«$‘) ¶mXr - 2 (Vnerb)
a) {dÛmZ i) Ph.D. à~§Ym§Mr gmR>dU
b) {S>{Ocm°H$a ii) {ejU gwb^ H$aÊ¶mgmR>r nmoQ>©b
c) gmjmV iii) AJ«JÊ¶ d¡km{ZH$ Am{U g§emoYH$m§Mm S>oQ>m~og
d) emoY J§Jm iv) g{Q>©{’$Ho$Q> gmR>dUo, {dVaU d nS>VmiUr H$aÊ¶mMo ì¶mgnrR> (Platform)
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (ii) (i)

3) (iv) (ii) (i) (iii)

4) (ii) (iv) (iii) (i)

7) Match List - 1 with List - 2 :

List - 1 (E-Initiatives)                   List-2 (Descriptions)

a) Vidwan i) Repository for Ph.D. thesis

b)  Digilocker ii) Education portal to facilitate learning

c) Sakshat wad iii) Database of leading scientists and researchers

d) Shodh Ganga iv) Platform for storage, sharing and verification of certificates

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (ii) (i)

3) (iv) (ii) (i) (iii)

4) (ii) (iv) (iii) (i)
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8) Q>r.Eg.Ama àmoJ«°‘ åhUOo H$m¶?
1) Q>{‘©Zb {g¾b a{OñQ´r àmoJ«°‘, Omo {gñQ>‘ a{OñQ´>r ~XbVmo.
2) Q>{‘©Zb Am{U ñH°$Z [anmoQ>©, Oo {gñQ>‘ ~§X hmoÊ¶mnydu [a‘moQ>br ñH°$Z H$aVo.
3) g§nwï>mV AmUm Am{U a{hdmgr ahm àmoJ«°‘ Oo àË¶jmV nma nS>ë¶mda ñ‘¥Vr‘Ü¶o amhVrb.
4) g§nwï>mV AmUm Am{U {gñQ>‘ H$mT>m, Oo H$m‘ nyU© Pmë¶mda ñdV…bm {‘Q>dVmV.

8) What is TSR program ?

1) Terminal Signal Registry Program, which alter System Registry.

2) Terminal and Scan Report, Which Scan Remote System Prior to terminating.

3) Terminate and Stay Resident those programs that actually stay in memory after execution.

4) Terminate and System Remove that erase themselves when complete.

9) Imbrbn¡H$s H$moUVo {dYmZ PHP ~Ôb Iao Amho?
1) PHP hr gìh©a gmB©S> pñH«$ßQ>tJ ^mfm Amho. 2) PHP hr ³bm¶§Q> gmB©S> pñH«$ßQ>tJ ^mfm Amho.
3) PHP hm EH$ S>oQ>m~og Amho. 4) darbn¡H$s EH$hr Zmhr

9) Which of the following statement is true about PHP ?

1) PHP is a Server Side Scripting Language 2) PHP is a Client Side Scripting Language

3) PHP is a database 4) None of the above

10) ñQ>m°qH$J h~ åhUOo H$m¶?
1) amD$Q>abm h~ H$Zo³Q> H$aUo 2) [anrQ>abm h~ H$Zo³Q> H$aUo
3) h~ Am{U pñdM H$Zo³Q> H$aUo 4) EH$ h~ Xþgè¶m h~er H$Zo³Q> H$aUo

10) What is Stacking hubs ?

1) Connect Router to Hub 2) Connect Repeater to Hub

3) Connect Hub and switch 4) Connect one Hub to another

11) ZoQ>dH©$Mo ZmoS²>g Á¶màH$mao EH$‘oH$m§er OmoS>bobo AmhoV Ë¶m ‘mJm©Mm g§X ©̂ XoUmar g§km ...... hr Amho.
1) ZoQ>dH©$ 2) Q>monmobm°Or 3) H$Zo³eZ 4) nañna g§~§Y

11) A term that refers to the way in which the nodes of a network are linked together referred as

1) networ 2) topology 3) connection 4) inter connectivity

12) K-NN nÕVr‘Ü¶o Categorial Variables ‘Yrb A§Va ‘moOÊ¶mg H$moUË¶m nÕVr dmnabr OmVmV?
a) h°‘tJ {S>ñQ>Ýg (Hamming Distance)
b) ¶w³brS>r¶Z [S>ñQ>Ýg (Euclidean Distance)
c) ‘°ZhQ>Z {S>ñQ>Ýg (Manhattan Distance)
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) (b)

12) Which of the following distance measure do we use in case of Categorial Variables in K-NN ?

a) Hamming Distance

b) Euclidean Distance

c) Manhattan Distance

Answer Options :

1) (a) 2) (a) and (b) 3) (b) and (c) 4) (b)
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13) ñd¶‘ (SWAYAM) Mo nyU©ê$n (’w$b’$m°‘©) ...... hm Amho.
1) ñQ>S>r dëS>© Am°’$ A°³eZ b{ZªJ ’$m°a ¶§J A°ñnm¶atJ ‘mBªS>g
2) ñQ>S>r doãg (Webs) Am°’$ A°p³Q>ìh b{ZªJ ’$m°a ¶§J A°ñnm¶atJ ‘mBªS>g
3) ñQw>S>ÊQ> (Student) dëS>© Am°’$ A°³eZ b{ZªJ ’$m°a ¶§J ¶obtJ (Ailing) ‘mBªS>g
4) ñQ>S>r doãg (Webs) Am°’$ A°pŠQ>ìh b{ZªJ ’$m°a ¶wW AdoAaZog ‘m°S>oëg

13) Full form of SWAYAM is ......

1) Study World of Action-Learning for Young Aspiring Minds

2) Study Webs of Active-Learning for Young Aspiring Minds

3) Student World of Action Learning for Young Ailing Minds

4) Study Webs of Active-Learning for Youth Awareness Models

14) ‘m{hVr gwajoMr ‘w»¶ Ü¶o¶o ...... AmhoV.
a) JmonZr¶Vm b) gMmoQ>r c) CnbãYVm d) AZwHy$cVm
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) d ’$º$

14) The main goals of information security are

a) Confidentiality b) Integrity c) Availability d) Adoptability

Answer options :

1) a only 2) a and b only 3) a, b and c only 4) d only

15) DDOS ho H$emMo g§{já ê$n Amho?
1) S>oQ>m {S>Zm`c Am°’$ gpìh©g 2) {S>ñQ´rã ẁQ>oS> {S>Zm`c Am°’$ gpìh©g
3) {S>ñQ´rã ẁQ>oS> S>oQ>m Am°’$ gìh©a 4) {S>ñQ´rã ẁeZ Am°’$ S>oQ>m gpìh©g

15) What DDOS is abbreviation for ?

1) Data Denial-of-Service 2) Distributed Denial-of-Service

3) Distributed Data-of-Server 4) Distribution of Data Service

16) Am^mgr dmñV{dH$Vm ...... ¶m joÌmV dmnabr Jobr Amho.
1) bîH$ar à{ejU 2) ‘mZgemó 3) d¡ÚH$s¶ à{H«$¶m 4) darb gd©

16) Virtual Reality has been used in the field of ______

1) Military Training 2) Psychology 3) Medical Procedures 4) All of the above

17) EH$mpË‘H$ goÝgg©gh EH$‘oH$m§er OmoS>boë¶m dñVy§Mo ZoQ>dH©$ Oo [a¶b Q>mB©‘‘Ü¶o S>oQ>m Jmoim H$ê$Z àgm[aV H$ê$ eH$Vo
Ë¶mg ...... åhUyZ AmoiIbo OmVo.
1) B§Q>aZoQ> Am°’$ qW½O 2) {~J S>oQ>m 3) ‘m°S>ob 4) darbn¡H$s H$mhrhr Zmhr

17) Network of interconnected items with integrated sensors that can gather and transmit data in real

time is known as ______

1) Internet of things 2) Big data 3) Model 4) None of the above

18) à‘m{UV àm{YH$aUm§Mo {Z¶§ÌH$mMr (gr.gr.E.) {Z¶wº$s ...... Ûmao Ho$br OmVo.
1) ñdm¶Îm g§ñWm 2) H|$Ð gaH$ma
3) {ejU ‘§Ìmb¶ 4) [aPìh© ~±H$ Am°’$ B§{S>¶m
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19) The Controller of Certifying Authorities (CCA) has been appointed by ______

1) Autonomous Body 2) Central Government

3) Ministry of Education 4) Reserve Bank of India

20) Imbrbn¡H$s H$moUVo ZoQ>dH©$ CnH$aU S>oQ>m àmá H$ê$ eH$Vo, Ë¶mMo {díbofU H$ê$ eH$Vo Am{U BVa ZoQ>dH©$da àgm[aV
H$ê$ eH$Vo?
1) h~ 2) pñdM 3) amD$Q>a 4) ‘moS>o‘

20) Which of the following network device can receive data, analyse it and transmit it to other

networks?

1) Hub 2) Switch 3) Router 4) Modem

21) S>r.EM.Q>r.E‘.Eb. ho ...... Am{U ...... Mo g§¶moOZ Amho.
1) S>r.Amo.E‘. Am{U gr.Eg.Eg. 2) gr.Eg.Eg. Am{U na§namJV EM.Q>r.E‘.Eb.
3) EM.Q>r.E‘.Eb. Am{U Omdm pñH«$ßQ> 4) darbn¡H$s H$mhrhr Zmhr

21) DHTML is combination of ______ and ______.

1) DOM and CSS 2) CSS and conventional HTML

3) HTML and Java Script 4) None of the above

22) EZ.B©.nr. 2020 Zwgma E.~r.gr. åhUOo H$m¶?
1) AH°$S>o{‘H$ ~±H$ Am°’$ H«o${S>Q²>g 2) AH°$S>o{‘H$ ~|M g{Q>©{’$Ho$Q>
3) A°p³gbaoQ> ~«oH$ H«o${S>Q²>g 4) AH°$S>o{‘H$ ~wH$ g{Q>©{’$Ho$Q>

23) What is ABC as per the NEP 2020 ?

1) Academic Bank of Credits 2) Academic Bench Certificate

3) Accelerate Break Credits 4) Academic Book Certificate

24) ‘SAMADHAN’ Mo nyU© ê$n ................ ho Amho.
1) Software Application for Maintaining and Disposal, Handling of Disputes/ Claims/General

Complaints

2) Software Application for Monitoring and Disposal, Handling of Industrial Disputes/Claims/

General Complaints

3) Software Application for Maintaining and Install, Handling of Industrial Disputes/Claims/

General Complaints

4) Software Application for Monitoring and Disposal, Handling of Disputes/ Claims/General

Complaints

24) ‘SAMADHAN’ 4 of 4G & me.

1) Software Application for Maintaining and Disposal, Handling of Disputes/ Claims/General

Complaints

2) Software Application for Monitoring and Disposal, Handling of Industrial Disputes/Claims/

General Complaints

3) Software Application for Maintaining and Install, Handling of Industrial Disputes/Claims/

General Complaints

4) Software Application for Monitoring and Disposal, Handling of Disputes/ Claims/General

Complaints
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25) nr. E‘. B© {dÚm (PM evidya) Mm/Mo à‘wI CÔoe H$m¶ Amho ?
I) gd© {dÚmÏ¶mªZr Cƒ JwUdÎmmnyU© {ejU XoUo.
II)  ‘ëQ>rßc°Q>’$m°‘© ‘moS> ‘Ü¶o {d{dY e¡j{UH$ g§gmYZo CncãY H$éZ XoUo.
n¶m©¶r CÎmao :
1) ’$º$ I 2) ’$º$ II 3) XmoÝhr$ I Am{U II 4) darcn¡H$s Zmhr

25) What is/are the main aim(s) of PM evidya ?

I) To deliver high quality education to all students.

II) To offer multifarious educational resources in multiplatform mode.

Answer options :

1) Only I 2) Only II 3) Both Iand II 4) Noneofthe above

26) ‘m{hVr Am{U g§àofU V§ÌkmZmÛmam amï´>r¶ {‘eZ H$m¶©H«$‘mV ¶m§Mm g‘mdoe Amho.
a) gm‘J«r {Z{‘©Vr
b) OmoS>Ur Am{U àdoegmYZo g§ñWm Am{U AÜ¶¶¶ZH$Ë¶m©Zm CncãY H$éZ XoUo.
c) ~mcH$m§Zm ‘mo’$V Am{U gº$s Mo {ejU XoUo.
n¶m©¶r CÎmao :
1) ’$º$  c 2) ’$º$  b 3)  a Am{U b 4) ’$º$  a

26) The National Mission on education through information and communication technology comprises

of

a) Content generation

b) Providing connectivity and access devices to institutions and learners

c) Free and compulsory education to children

Answer options :

1) c only 2) b only 3) a and b only 4) a only

27) B©-AÜ¶¶Z åhUOo ................
a) Am¡nMm[aH$ AÜ¶mnZmda AmYm[aV AÜ¶¶Z àUmbr na§Vw Bbo³Q´>m°{Z³g g§gmYZmÀ¶m ‘XVrZo.
b) dJm©V qH$dm dJm©~mhoa AÜ¶mnZ e³¶
c) Am§VaOmb AmYm[aV H$m¡eë¶ Am{U kmZmMo hñVm§VaU
d) d¡¶{º$H$ g‘wnXoeZ
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) ¶mo½¶$ 2) ’$º$ (a) ¶mo½¶ 3) (a) Am{U (d) ¶mo½¶ 4) ’$º$ (d) ¶mo½¶

27) E-learning means .................

a) A learning system based on formalised teaching but with the help of electronic resources

b) Teaching can be based in or out of the classroom

c) Network enabled transfer of skill and knowledge

d) Personal counselling

Answer Options :

1) (a), (b) and (c) are correct 2) only (a) is correct

3) (a) and (d) are correct 4) only (d) is correct
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6) {dkmZ d V§ÌkmZmMo Cn¶moOZ - n[apñW{VH$s, àXÿfU, n¶m©daU nyaH$ Kao

1) 'n¶m©daUmVrb gd© gOrd d {ZOud KQ>H$m§Mr EH${ÌV g§aMZm åhUOo n[ag§ñWm' hr ì¶m»¶m 1935 ‘Ü¶o H$moUr Ho$br?
1) E. Or. Q>mÝgco 2) E’$. Ama. ’$mog~J© 3) Zo~b 4) S>m{d©Z

1) Who defined the ecosystem in 1935 as ‘The study resulting from the integration of all the living

and non-living factors of the environment’ ?

1) A. G. Tansley 2) E. R. Fosberg 3) Nebal 4) Darwin

2) n[apñW{VH$s ¶m OrdemómÀ¶m ‘hÎdmÀ¶m emIobm 'BH$m°cm°Or' (Ecology) ho emór¶ Zmd gd©àW‘ ...... ¶m O‘©Z
àmUremókmZo 1869 gmbr {Xbo.
1) B©. EM. hoHo$b 2) Or. E. noQ´mB©S>g 3) Hw$. g|nb 4) ¶mn¡H$s Zmhr

2) The scientific name 'Ecology' was first given to this important branch of Biology by ...... a German

Zoologist in 1869.

1) E. H. Haeckel 2) G. A. Petridis 3) Miss Sample 4) None of these

3) XoemVrc n{hcr Ord-d¡ÚH$s¶ g§emoYZ g§ñWm Imcrcn¡H$s H$moUVr Amho ?
1)  S>m°. Zm¶Sy> gm§g{J©H$ amoJ g§ñWm, nwUo 2) hm’${H$Z, ‘w§~B©
3)  {gncm, Jmodm 4) S>m°. ^m^m g§emoYZ H|$Ð, ‘w§~B©

3) Which of the following is the first organism medical research institute in the country ?

1) Dr. Naidu Sansargik Rog Sanstha, Pune 2) Haffkine, Mumbai

3) CIPLA, Goa 4) Dr. Bhabha Research Centre, Mumbai

4) Imbrbn¡H$s H$moUË¶m ^maVr¶ ‘m{hVr V§ÌkmZ gñWm øm gaH$mar Am{U ImOJr gh^mJr nÕVrZo Mmb{dë¶m OmVmV?
a) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ BÝ’$m°a‘oeZ Q>o³Zm°bm°Or, ~S>moXam
b) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ BÝ’$m°a‘oeZ Q>o³Zm°bm°Or A°ÊS> ‘°ZoO‘|Q>, ½dmbr¶a
c) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ BÝ’$m°a‘oeZ Q>o³Zm°bm°Or, Abmhm~mX
d) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ AÝ’$m°a‘oeZ Q>o³Zm°bm°Or, JwdmhmQ>r
d) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ AÝ’$m°a‘oeZ Q>o³Zm°bm°Or, H$moQ>m
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) ’$º$ (d) Am{U (c) 3) (a), (d) Am{U (c) 4) ’$º$ (a)

4) Which the following Indian Institutes of Information Technology are run on public-private

partnership mode ? "

a) Indian Institute of Information Technology, Vadodara

b) Indian Institute of Information Technology and Management, Gwalior

c) Indian Institute of Information Technology, Allahabad

d) Indian Institute of Information Technology, Guwahati

e) Indian Institute of Information Technology, Kota | 7

Answer options :

1) (a), (b) and (c) 2) only (d) and (c) 3) (a), (d) and. (e) 4) only (a)

5) S>m°. em§Vr ñdê$n ^Q>ZmJa ............... Mo àW‘ AÜ¶j hmoVo.
1) ¶w Or gr 2) EZ gr Q>r B© 3) EZ gr B© Ama Q>r 4) Z°H$

5)  Dr. Shanti Swarup Bhatnagar was the first Chairman of .........

1) UGC 2) NCTE 3) NCERT 4) NAAC
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6) Imbrbn¡H$s H$moUVo {dYmZ/Zo Vmn‘mZ ì¶ñVZ KQ>Zoer g§~§{YV Amho/AmhoV?
a) H$maImÝ¶mVyZ Yya gmoS>Umè¶m eham§‘Ü¶o gH$mir {deofV… {hdmù¶mV àXÿfH$ AmYm[aV YwHo$ gm‘mÝ¶nUo dmVmdaUmÀ¶m

ImbÀ¶m ñVamV AmT>iyZ ¶oVo.
b) df©̂ a Y«wdr¶ àXoemV Vmn‘mZ ì¶ñVZ ho gm‘mÝ¶ d¡{eîQ>ç Amho.
c) ŷn¥ð>mnmgyZ Oer C§Mr dmT>V OmVo Vgo dmVmdaUmÀ¶m ImbÀ¶m ñVamV Vmn‘mZ d¥Õr hmoVmZm {XgyZ ¶oVo.
d) pñdËPbªS>, ’«$mÝg, H°${c’$mo{Z©̀ m (U.S.A.) ¶oWo ’$i~mJm, Xè¶m§À¶m Vi^mJmEodOr S>m|Ja CVmam§da AmT>iyZ ¶oVmV.
n¶m©¶r CÎmao …
1) Ho$di {dYmZ (a) Am{U (b) 2) Ho$di {dYmZ (c) Am{U (d)

3) Ho$di {dYmZ (d) 4) {dYmZo (a) (b) (c) Am{U (d)

6) Which of the following statement/s are associated with the phenomenon of temperature inversion?

a) In morning especially during winters, in lower strata of atmosphere, pollution-base fogs are of

common occurences in smoke releasing factory cities.

b) Over polar regions the temperature inversion is a common feature all the year around.

c) The temperature is found to increase with elevation in the lower strata of atmosphere.

d) The orchards in Switzerland, France, California (U.S.A) are found on the slope of hills rather

than on valley floors.

Answer Option :

1) Only statement (a) and (b) 2) Only statement (c) and (d)

3) Only statement (d) 4) Statements (a) (b) (c) and (d)

7) Imbrbn¡H$s H$moUVo d{Y©V / dmT>rd h[aVJ¥h n[aUm‘ AmhoV?
a) OmJ{VH$ Vmn‘mZ dmT> b) g‘wÐmÀ¶m nmVirV dmT>
c) ‘mZdr Amamo½¶mda n[aUm‘ d) eoVrda n[aUm‘
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (b) Am{U (c) 4) darbn¡H$s gd©

7) Which of the followings are the impacts of enhanced greenhouse effect ?

a) Global temperature increase b) Rise in sea level.

c) Effects on human health d) Effects on Agriculture.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (b) and (c) 4) All of the above

8) qgMZ nmÊ¶m‘Yrb ...... ¶m§À¶m amgm¶{ZH$ KQ>H$m‘wio Am{U Ë¶m§À¶m EHy$U à‘mUm‘wio O{‘ZrV ~Xb hmoVmV.
1) I{ZOo 2) jma 3) YZ^m[aV H$U 4) F$U^m[aV

8) ...... in irrigation water bring about changes in soil properties by their chem and total concentration.

1) Minerals 2) Salts 3) Cations 4) Anions

9) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV CnbãY qPH$ Am{U Vm§~o O‘m hmoÊ¶mV bjUr¶ dmT>

hmoVo.
b) qgMZmgmR>r ZJanm{bH$m gm§S>nmÊ¶mMm dmna Ho$ë¶mZo O{‘ZrV H°$S>{‘¶‘ (Cd) O‘m hmoÊ¶mV bjUr¶ dmT> hmoVo.
n¶m©¶r CÎmao …
1) (a) {dYmZ ~amo~a Amho. 2) (b) {dYmZ ~amo~a Amho.
3) XmoÝhr (a) Am{U (b) {dYmZo ~amo~a AmhoV. 4) darbn¡H$s EH$hr {dYmZ ~amo~a Zmhr
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9) Which of the following statements is correct ?

a) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Zinc (Zn) and Copper (Cu) in soils

b) Use of municipal waste water for irrigation leads to substantial increase in accumulation of

Cadmium (Cd) in soils.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both (a) and (b) statements are correct 4) Neither of the above statement is correct

10) D$Om© Am{U gm{hË¶/dñVy ¶m§Mm n[ag§ñWo‘Yrb nañnag§~§Y ...... ¶m§À¶m Ñï>rZo ’$maM ‘hÎdmMm Amho.
1) n¶m©daUemók 2) ŷJ ©̂emók
3) H¥${femók 4) dZñn{Vemók

10) The interaction of energy and materials in the ecosystem is of primary concern to the ......

1) Ecologists 2) Geologists

3) Agricultural scientists 4) Botanists

11) ...... hr g§km gd©àW‘ A‘o[aH$Z ŷJmobVÁk OrZ Jm°Q>‘Z ¶m§Zr ‘m§S>br.
1) à‘hmZJa 2) ‘hmZJa 3) ZJa 4) ZJa n§Mm¶V

11) The term ...... was first coined by American geographer Gene Gottman.

1) Megalopolis 2) Metropolitan 3) City 4) Nagar Panchayat

12) ãbme, ’o$~dao, ~mo‘oZ, JmoëS>Z {~Oa ¶m§Zr ...... Mo g‘W©Z Ho$bo.
a) {ZgJ©dmX b) g§̂ ddmX c) Wm§~m d Om {dMmagaUr
n¶m©¶r CÎmao …
1) ’$º$ (b) ~amo~a Amho 2) ’$º$ (a) ~amo~a Amho
3) (a), (b) ~amo~a AmhoV 4) (a), (b), (c) ~amo~a AmhoV

12) Blache, Fabvre, Bomen, Golden Bijar have supported to

a) Determinism b) Possibilism c) Stop and Go Determinism

Answer Options :

1) only (b) is correct 2) only (a) is correct

3) (a), (b) are correct 4) (a), (b), (c) are correctQs

AsstcmnsSWssm3_(15)Qs AsstcmnsSWssm3_(15)
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CÎmao … (16) {dkmZ

1) gm‘mÝ¶ {dkmZ - ^m¡{VH$emó

1) D$Om© emó - drO {Z{‘©Vr
1-2 2-1 3-3 4-3 5-4 6-4 7-3 8-4 9-3

2) AdH$me emó
1-3 2-3 3-4 4-1 5-3 6-3 7-4 8-2 9-4 10-4
11-1 12-3 13-4 14-1 15-3 16-1

3) AUwemó
1-4 2-1 3-2 4-4 5-2 6-4 7-1 8-4 9-2 10-1
11-4 12-4

2) gm‘mÝ¶ {dkmZ - agm¶Zemó (Ho${‘ñQ́>r)
1-4

3) Ordemó d O¡dV§ÌkmZ
1-3 2-4 3-4 4-2 5-1 6-4 7-4

3) gm‘mÝ¶ {dkmZ - àm{Uemó, dZñn{Vemó
1-1 2-2 3-1 4-4 5-1 6-3 7-4 8-2 9-2 10-3

11-1 12-1 13-1 14-2 15-4 16-3 17-1 18-2 19-4

4) Amamo½¶emó (hm¶OrZ)
1-3 2-3 3-4 4-2 5-2 6-3 7-4 8-3 9-1 10-3
11-4 12-4 13-2

5) ‘m{hVr V§ÌkmZ
1-2 2-1 3-1 4-2 5-2 6-2 7-2 8-3 9-1 10-4
11-2 12-1 13-2 14-3 15-2 16-4 17-1 18-2 20-3 21-3
22-1 24-2 25-3 26-3 27-1

6) {dkmZ d V§ÌkmZmMo Cn¶moOZ - n[apñW{VH$s, àXÿfU, n¶m©daU nyaH$ Kao
1-1 2-1 3-2 4-3 5-1 6-4 7-4 8-2 9-3 10-1
11-1 12-1


